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Thanksgiving Multiplication

Solve the following word problems.

The cost of a Thanksgiving turkey is $24.50. If you
need to buy 4 turkeys for a large family gathering,
how much will you spend?

Each pumpkin pie costs $12.75. If you want to buy
5 pies for the Thanksgiving dinner, how much will it
cost?

A pound of cranberries costs $1.50. If you need 7
pounds for your cranberry sauce recipe, how much
will the cranberries cost?

You want to make 3 pumpkin pies for
Thanksgiving. If each pie requires 1.75 cups of
sugar, how many cups of sugar do you need?

A bag of stuffing mix costs $2.75. If you need 6
bags for your Thanksgiving dinner, how much will
it cost?

At the Thanksgiving fair, 3.6 yards of fabric were
used to make a costume outfit. How much fabric
will be needed for 8 costume outfits?

A bottle of sparkling cider costs $4.50. If you want
to buy 3 bottles for the Thanksgiving dinner, how
much will it cost?

A Thanksgiving recipe needs 0.75 cups of
cranberries for each serving. How many cups of
cranberries are required for 15 servings?
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